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1 | 505 = OB 13:00 13:10 |y %= %-%

2 | 512 BEOZE 13:03 13:13  |eopd % = %%

3 | 506 E0)i7 13:06 13:16 |y %= %-%

4 | 503 FROsE 13:09 13:19  |zrpbd % = % -%

5 | 502 FOs 13:12 1322 |y g=%-5

6 | 501 FROJE 13:15 1325 |eopbd % = % -%

7 | 508 HFOLE 13:18 1328 |vrmy % =%-%

8 | 512 #0%E 13:21 1331 |wopd % = %%

9 | 508 FROFE 13:24 1334 |y ds5-5
10 | 511 BEO 13:27 1337 |eomd % = %-%
11| 509 BEOS 13:30 13:40 |y %= %-F
12 | 506 BEOSAE 13:33 13:43  |wrpd % = %%
13| 510 RO#F 13:36 13:46 |3y %= %-F
14 | 502 o7 13:39 13:49  |wrpbd % = %%
15| 514 O 13:42 13:52 vy d=n-5
16 | 507 #0 13:45 13:55  |wopbd % = %%
17 | 501 EO# 13:48 13:58 ALE B

18 | 509 FOR 13:51 14:01  |zopbd % = % -%
19 | 507 0% 13:54 14:04 |y % =%-5
20 | 503 1ROZE 13:57 14:07 |3 HY %= %-F
21 | 514 BOF 14:00 14:10 |3y % =% -5
22 | 513 FROE 14:03 14:13  |wopbd % = % -%
23 | 513 BEQHH 14:06 14:16 |3y % =% -5
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